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public class ArrayDemol
{
public static void main(Stringl[ ] args)
{
// TODO Auto-generated method stub
int i;
double all |;
char [ ] a2;
al=new double| 8];
a2=new char[ 8];
int 33[]=new int[8];
byte[ ] ad4=new byte[ 8];
char a5[ ]J={'aA','B','C','D','E', 'F', 'H', 'I'};
System.out.println("al.length="+al.length);
("a2.length="+a2.length);
System.out.println("a3.length="+a3.length);
("ad.length="+a4.length);

System.out.println

System.out.println
for (i=0;1<8; i++)
{
alli]=100.0+i;
a2[i]=(char) (1+97);
a3lil=i;
}
System.out.println("al\taZ\taB\ta4\ta5");
System.out.println("double\tchar\tint\tbtye\tchar");
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for (1i=0; 1<8; i++)
System.out.println (a1l i]+"\t"+a2[ i ]+ "\t"+a3[ i ]+"\t"+ad[ i J+"\t"+a5[i]);

}
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public class ArrayForDemo

{
public static void main(Stringl ] args)
{
// TODO Auto-generated method stub
int [ ] score={88, 78,87, 96, 60, 93};
int max;
int sum;
max=score[ 0];
for(int i=1;i<score.length; i++)
{
if (scorel i |>max)
{
max=score|i];
}
}
System.out.println ("& & S "+tmax) ;
sum=0;
for(int i=0;i<score.length; i++)
{
sum+=scorel i];
}
System.out.println( "¥ﬂ~]ﬁiéﬁ% :"+sum/score.length) ;
}
}
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public class ArrayDemo?2
{
public static void main(Stringl ] args)
{

// TODO Auto-generated method stub

int [ ][] triangleArray=new int[9][];

for(int i=0;i<triangleArray.length;i++)

{
triangleArrayli]=new int[i+1];

}

for(int i=0; i<triangleArray.length; i++)

{
for(int j=0; j<triangleArray[i].length; j++)
{

triangleArray[i][j]=(i+l) * (3+1) ;

}

}

for(int i=0;i<triangleArray.length;i++)

{
for(int §=0;j<triangleArray[i].length; j++)



System.out.print( "\t"+triangleArray[i][j]) ;
}
System.out.println();
}

}
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public class ArrayCopyFor
{
public static void main(Stringl[ ] args)
{
// TODO Auto-generated method stub
int [ arrayl={1,2,3,4,5};
int [] array2=new int[arrayl.length];
for(int i=0;i<arrayl.length;i++)
{
array2[il=arrayl[i];
}
System.out.println("%’iﬁ?ﬂéﬁ :")
for(int i=0; i<array2.length;i++)
{
System.out.print (array2[i]+", ") ;
}



@[ BB RITR |

IATEE Ry

R
1,2,3,4,5,

2. £ 8 cloneO) 7 #*

TE Java H1, Object LT A LKA, Hid clone O J5 B — M T80 & 3 3% [8] it %o 42 1y —
ABIA  Java FRIA R —PI#B & %F 42, B DL 3% 05 v ] DL sz B A id 42 41
B 3.5 fHiH cloneO) JyEL I A 4H & 1l .

public class ArrayCopyClone
{
public static void main(String[ ] args)
{
// TODO Auto-generated method stub
int [ arrayl={1,2,3,4,5};
int [] array2=arrayl.clone();
System.out.println("ZHlZER ") ;
for(int i=0; i<array2.length;i++)
{
System.out.print (array2[i]+", ")

}
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public class ArrayCopySystem
{
public static void main(String[] args)
{
int [] arrayl={1,2,3,4,5};
int D array2=new int[arrayl.length];
System.arraycopy(arrayl, 0, array2, 0, arrayl.length);
System.out.println("ﬁﬁi‘ﬂ?ﬁ :")
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for(int i=0; i<array2.length;i++)
{

System.out.print (array2[i]+",");
}

}
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import java.io.BufferedReader;
import java.io.IOException;
import java.io.InputStreamReader;
class SortClass
{
void sort (int arr[ |)
{
int i, j, temp;
int len=arr.length;
for(i=0;i<len-1; i++)
for(j=len-1;3>i;j--)
if(arr[j]<arr[j—l])
{
temp=arr[ j-11;
arr[j—l]=arr[j];
arr[j]=temp;
}
}
}
public class Demo
{
public static void main(String[] args) throws IOException
{
// TODO Auto-generated method stub
BufferedReader keyin=new BufferedReader (new InputStreamReader (System.in));
int i, Jj, temp;
String cl;
int arr[ J=new int[5];
int len=arr.length;
System.out.println( "i%MéEﬁﬁi/\ 5 AEAE ;
for(i=0; i<len; i++)
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cl=keyin.readLine() ;
arr[i]=Integer.parselnt(cl);
}
System.out.print ("JRIHEHE A ") ;
for (i=0; i<len; i++)
System.out.print (" "+arr[i]);
System.out.println("\n");
SortClass pl=new SortClass();
pl.sort(arr);
System.out.println ("B ¥k HEF A0 45
for(i=0; i<len; i++)
System.out.print (" "+tarr[il); FLUA%UE Y 213 345 23 546 56
System.out.println("\n");

}
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public class Demo
{
public static void main(Stringl ] args)
{
int triangle[][]=new int[lO][];
for (int i =0; 1 < triangle.length; i++)
{
triangle[i]:new int[i+1];
for(int 3=0; j<=1i; j++)
{
1f(1==0113==0113==1)
{
triangle[i][j]=1;
lelse
{
triangle[i][j]=triangle[i-1][j]+triangle[i-1][j-1];
}
System.out.print (triangle[i][3]+"\t");
}
System.out.println();

}
ATE R ANIE 3.6 s,

1
D)
3
4
)
6
7
8

)

©

B 3.6 fl3. Sﬁﬁli HR



